
#81392 - Front Upper & Lower A-arms for the ARRMA Granite, Vorteks, Raider, Fury & Mojave�
�

What's Included: 2 - Front Upper A-arms, 2 - Front Lower A-arms, 2 - M3 x 12mm Buttonhead�
	              Screws, & 2 - M3 x 20mm Buttonhead Screws.

Installation: RPM A-arms are stock 
replacement parts. Simply remove 
your stock A-arms and replace them 
with your new RPM versions. 
However, please be aware of the 
following considerations:

1) Caution: RPM A-arms are 
asymmetrical! The RPM logos on 
the A-arms must face the front of 
the vehicle for proper A-arm 
orientation.

2) Thread the stock camber link 
setscrew into the RPM upper A-arm 
until it bottoms out. Use caution and do not 
over-tighten this screw. Afterwards, thread the stock 
camber link rod end back on to the setscrew.�
�

3) Replace the stock M3 x 25mm shock mount screws 
with the included M3 x 20mm Buttonhead screws.

4) The stock M3 x 15mm turnbuckle-to-spindle 
block screws must be replaced using the included 
M3 x 12mm screws or interference may occur. Install as shown, using the stock 
washer.�
�

Adjustments: Be sure to reset your Camber and Toe angle settings after installation for the best possible 
performance. RPM recommends using a gauge such as our Camber Gauge (RPM #70992) and Toe Gauge (RPM 
#70492) for extremely accurate settings.

RPM Logo

M3 x 20mm

M3 x 12mm

Front of Vehicle

Left S
ide Shown


